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QW & forg fAer : Instructions for the cmdldatt's :

1. gelere OMR IT¢-9F% ¢ 9AT
mw%wm(mmarr)

2.
3 ]
Wdicate full marks.
4 . 15 minutes of extra time have been
' allotted for the candidates t© read
_ the questions carefully.
z;'g' I??Ff E’ﬁHEW o vl F & — 3. This question booklet is divided N0
> two sections — Section-A and
@'ﬂ v GUS-a Section-B.
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OMR 37- Y% W QghT &¥1 947
g, or=rar wfer Ry s
g

. VS - TH 200 FANT AIT & 1
g% & oo 2 afw fuifa & g
@ f@=t 10 wyAt a1 Fwv o
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T goie gt &

Section-A, there are
70 objective type questiong ot
of which any 35 questions qr, to
,l_'f maore
35 questions are answereq then
only first 35 will be evuiygtey
Each question carries 1 mark. For
answering these darken the cir.,
with blue / black ball pen against
the correct option on OMR Ansye,
Sheet provided to you. Do not yse
whitener / lquid / blade / nai
etc. on OMR Answer Sheet,
otherwise the result will be
treated invalid.

be answered. than

. In Section - B, there are 20 short

answer type questions, ecach
carrying 2 marks, out of which
any 10 gquestions are to be
answered. Apart from these, ihere
are 6 long answer type
questions, each carrying § marks,
outl of which any 3 questions are

to be answered.

Use of any electronic appliances s

strictly prohibited.
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GUe - A / SErION - A

a—ﬂﬁ‘%’ 97 / Objectiy, Type Questions
gvT Gy 1@ 70 7F F TEE U % ey a? et By T &, P @

nﬁ#twﬁmﬁwwﬁam-r:iomﬁ?wﬁﬁqﬂﬁf&ﬁ

359y &1 397 &1 35x1 - 35

Question Nos. 1to 70 have four options, out of which only one 's correct.
You have to mark your selected option, on the OMR-Sheet. Ansier any
35 - ; - 3!‘

2

35 questions.

I aR A5-0.® |AxB|F
AL A (B) AB
©  JAB (D) AB,-AB,
If A.B=0,then AxB|is equal to
(A)  zero (B]% AB \
€ JAB of A.B,-4,B,
2. @ e 1 ol @ R | E
A)  [MLT?] (B) [MI*T™?)
€ [ML?T?) (D) [MLT
The dimensional formula of pressure gradient is
(A)  [MLT 2| (B)  [MLT 7|
€ ML ) [MLT |
3, L a1 fam) fanifetload  fan afft & famn & syt & 2 2
Ky €o
(A) am (13) Sl
(c) Wfh (D) &
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ion of which of ¢,

: 1 TR .
The dimension of —‘/-——-'?' I% equal to the dimensto
Ho o

following quantitics ?

(A)  Velocity (B)  Energy |
(C) Power (D)  Acceleration
4. frafafes § Beg U1 &1 SIS | 2a-26-3 for@r 1 @l 2 2
() SfeRIY (B) hed
(€) s (D) g T
Which of the following quantities has'km?A~2s™>as its SI unit ?
(A) Resistance " (B) Inductance
(C) Capacitance (D) Magnetic flux
5. U fis & e &1 el S= ar+be? gru @ 1 s F o
@ 3 B) 2b

(€ a+b - (D) 3b

The equation for displacement of a body is given by“‘S at+bt* . The
acceleration of the body is :

(A) -g— (B) 2b
(C) a+b (D) 3b

6. I frelt v 1 ferenaq-a99 0% y-= mx+c GRI Tl foar sran 2, @
U1 Tfasfier 8
A) fraq 9 @ B) Taana
(C) ufadf an @ (D) Faaean

If the displacement-time graph of a particle is represented by
Y=Mmx+c, then the particle is moving with

(A) Constant speed . (B) Constant velocity
(C)  Variable velocity (D)  Constant momentum
AN
7. ER i+ g x-3w ¥ wy g S0 2
(A)  30° (B) 45°

{CJ 60° (D] 900'



10.

A M

Vector i +j makes an angle of . with x-axis.
(Ay 30° (B) 45°
(Cy 60° (D) 90°

afest F=41i -3 & T99q g Tizy B

A A A
(A)  41+3] (B) 61
e - A A
(C) 7k (D) 3i-4j

A T

-
Another vector perpendicular to vector F=41i -3 ] is

AR A
(A)  4i+3] B) 61

A A N
(C) 7k (D) 3i-4j

- =

- > -2 - - =
T AxB= 0 741 BxC=0,d§ AxC I °H &M

— A
(A) -0 (B ACsinbn
. / ’
A A
(C) ACcosbn (D) =-n

- -

- - = = - =
If AxB=0 and BxC= 0, then the value of AxC will be

— . A
(A) 0 (B) ACsinfn

4

aY
(C) ACcosfn (D) -n

, fan @ g 99 T EAH 91 VO # T 0 AfeAE g1 anet 39

03 1 o g § v 1 JtEd @ 1 E ?

2 p 2
w A B =
2V V2
© U

T — 77
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[117] . B
A ticle is moving with uniform speed of Von a circular path
}lr r N [ " S X . . . 0
(El'] s r. What will be the avVerage acceleration in the interyg
radius . ¢ _ . ! : _
time in which particle desefibes half the cirele ?

(A) 1’;—)— (B) 252
2

(€) 2-::—2 D)
11 e & 3 9% &9 8 PR § g 1 wshanm g 2

(A) = (B} “9m

(C) gam (D) @

A body {alling freely under gravity has uniform

(A) Speed (B)  Velocity

(C) Momentum (D)  Acceleration
12, éﬂ-wmaﬁtmaa%aﬁawém@m%

(A) TR & SR {B)- @ T gt F auen

(C) IATEdF TR (D wﬁv&aﬁ?ﬁw

The area between velocity'-ti;fne graph and time axis is equal to

(A)  acceleration % (B) distance covered

(C)  change in velocity { (D) change in acceleration
13, %&ﬁﬁsmmwwﬁw-ﬁq—mﬁﬂmmfﬁnwﬁ%?

(A) T (B)

(C) Ham (D) s St

Wh_ich of the following quantities of a body remains constant under
uniform force acting on it

(A) Velocity :

(B)  Acceleration
(C) Momentum

(D) Kinetic energy

14. “ﬁm%mmﬁm e ) gy TR 8 S
(A) I (B) tﬂ’fﬂ
(€)  "uH (D) 10
i{rillnlg::mal feaction becomeg double then coefficient of friction
(A) doubled (B) four times
(C)  equal

(D)  halved
——-—._._‘—__'___———-‘—_.- -
B/X1/4711001] Y
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1 o goud™ ) A ) ufad gy | ¥ Ry a4 3uapl A R

15.
- !
(A} 045 ms (1) 1 ms
|
(C)  Lams () 44ms’
The kinetic enerry of a body of ydass | kg is | joule. Its velociry
will be
(A)  0-45ms ' 1) 1ms'
s - :
(€) 1-4ms () 44ms’
16.  m g TG 1 WGH G p ¥, 4t 35! whrst St 2t
(A)  mp : (B) mp?
2 2
o £ y
(C) — (D) 5
The linear-momentum of a body bf mass m is p. Then its kinetic
energy will be '
(A mp (B) mp*
1 2 .
P P
© £ o), £
17. SR m qul T v & Sorar gan fve T AR 8 ohaEq THUA @ Al
28 % w1 3t TRy o | Sltear 31 S R e ga R
A  mv B) Zmv
C) 2mv ~ APy T
A body of mass m and speed v collides with a wall perpendicularly
and returns with the same speed ». The momentum imparted to
the wall is :
(A) mv ' (B é‘mv
(C) 2mv (D)  zero
18. HEM A9 W & afe ehua &1 wefiga s ¥
(A) (B) &
(Cy— TR it (D) e
Two balls collide at constant temperature. Conserved physical
quantity is .
(A)  temperature (B)  velocity
(C) kinetic energy (D) momentum

B/XI/A/11001 Page 7 / 24




15.

16.
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1 fpu gegA@ 1 T ) TS Fal S GRJKEREET an #

(A) 0-45ms” 13) 1 ms'
(C) . 14ms” 1) 44 ms
The kinetic energy of a body of dass | kg is 1 joule. Its velocity
will be
(A) 0-45ms”’ @) 1ms”
C© 14ms” _ (D) 44 ms R
m 5eaq S5 F GF § p R, @ 35 TR it @eft
Ay  mp . (B) mp?
2 2

P P_

© £ o £

The linear-momentum of a body of mass m is p. Then its kinetic
energy will be :

(&) mp (B) mp?
b § ' 2
P )
© £ (l,ﬁ 5

SEAR m ' TRy v & Fofl gan s T dan & weaq <E & awl

17.
TE % &1e 39! i v @ oedr 31 Sar W femn mn gam R
A mw (B) m
(C) 2mv - (DY A
A body of mass m and speed v collides with a wall perpendicularly
and returns with the same spced v. The momentum imparted to
the wall is ,
(A)  mw | B Sm
(C) 2mw (D)  zero
18, wmmawmﬁ%mﬁmlﬂﬁmnﬁl%
(A] (13) &
rrﬁ‘ﬂ E (D) wam
Two balls collide at constant temperature. Conserved phj!Slcal
quantity is
(A) temperature (B) vel.omty
(C) kinetic energy (D) momentum
/ 24

| B/X1/A/11001 Page 7




20.

21.

w7 NETEEAT TOT B

a) 2 B 3
64 9

€ 35 (D) T

On dropping from a height qf 64 cm, a spherical ball jumps up to
36 cm. The coefficient of restitution of collision is

(A) % (B) % 2
64 oy 9
(O D) 15

T 3 % Q it A A T R § @ o 1T P S
ﬁmmmw@m .

O < e g
Q a D) 2a

Out of two particles of ‘Zsame mass, one is stationary and

-/
acceleration of another is a. The acc_clcra-tion of .centre of mass of
the system will be :

(A)  zero ® 2
(C) a (D) 2a

TH W x-3H % GAA Frgg 9 @ 99 W@ R 4 fag % qoy 6
Frofta g3 e

A) TIE @) fr=a w2

)~ & s ] (D) T & S &

A pai‘ticle is moving with constant velocity parallel to x-axis. 1t
angular momentum relative tg origin point

(A) is zero ' (B) remains constant
(C) goeson increasing (D) goes on decreasing

|B/XI/A711001] ) Page 8 | 24



22.

3.

4.

o II;?;
k=11 o ngﬁ%ﬁmm:ﬁ?qﬂﬂ?

(A) 3:5 By 5:3

€) V345 D, J5:43

Mass and moment qf inertia aboy:t diameter of a solid sphere and a
thin spherical shell is same. The -atio between their radii is

(A) 3:5 B) 5:3

) J3:45 (D; J5:4/3

(A) TEEY TR & 8 (B, _—a9EY & 8
~ - - e

C) AN R (D) ¥ d 5 T

The gravitational potential inside a hollow sphere

{A) is not uniform (B) 1is uniform

(C) iszero (D) none of these

W I H ZETA MM TR G r T F FZ A FE N T
9% 9 $ TEg ¥G F IA: 3961 dged AT 2

a)  Lum? {B]?{ Mr*

{
(C) M2 (D]j Mr?
The mass and radius of a ring'are M and r respectively. The
moment of inertia of the ring about an axis passing through 1ts

centre and perpendicular to its plane is

(A) -;-MF B) M

c) M7 (D) Mr°

3 79 1 A A B, A1 waEA A B R) @ Hw R

Aa) T \ }Bf’/tﬁm L

(C) FUHg T (D) HHI* T

When milk is churned, then cream is separated. It happens du¢ t©©
(A) gravitational force (B) frictional force

(C} centrifugal force (D) céhesive force

il ——l-'-.._-_.-—.-
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26.  gom™ M %1 T e o A S o, wms o A o % e
R 5 A & TR TR TGS DA [ 3 g ot dam A

A 1o’ B) Mo

) Io D) I

A body of mass M is movil‘}g with unifo
its axis of rotation. Iis it§ moment o
angular momentum will be

rm angular velocity o abou
['incrtia about this axis. It:

" (A) %I 2 (B) MI @*
(C) I’ - D) Io

27w A A % W R B P e R V-G 3, ol -
TErTHSY TRTAT T°1 M e %1 g 2 3 ¢ i

A) TeFH g
B) “fag P M h g & ot 2
(C) T pHI et % H A gl @

(D) fag P bl et i wag & gt % orf @

The gravitational potential V at a point P, outside a solid sphere 1z

Vz#-qxﬂ, where G is gravitational constant and M is mass of the

sphere. ' x' represents
(A)  radius of point sphere
(B)  distance of point P from the surface of the sphere
(C) distance of point P from the centre of the sphere
(D) square of distance of point P from the centre of the sphere.
28. el 3% =1 W 20% wer & widt 2, @ 3wl i Fait F gf g
(A)  20% (B)  66%
(Gl —44% (D) 88%

The momentum of any body is increased by 20%. Then its kinetic
energy will increase by

(A) 20% ' {B] 66%
(C) 449, (D) 88%
IR/vTTa711001] T——— a1
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20 @mwﬁmmaﬁﬁmmmwé1w@$l“imﬂﬁam

: Gl
Hquﬁ'ﬂm &1 U . % S
2 (I S
(A) E’-; ) 2
7
(C) ; D)

- : . The rat;
A solid spherc 18 rolling on a hgrizontal plane su-rfgc%c . urelmo of
its angular kinetic energy to linear kinetic energy will qual to

(A) (B3)

1N ol

(C) D) 3
30. qea"rﬁﬁWTRaﬂTaaﬂﬁM%n = g ad G H AT T
g‘pn .

~lon e

RQ
O B
c XL D) R*M

2
R *
The radius and mass of the earth are R anc} ‘M respectively. The
ratio of acceleration due to gravity g and G will be

@ B £
c X D) R*M
31. w&ﬁmqﬁaﬁmwwfiwéﬂ% Y A7/ A 8
1 gt 61 wag @ HBW I H U TR g
(A) R I
© = (D) 2R

4 v
If an artificial satellite is revolving around the earth in a circular
orbit with half of the escape Velocity, then the distance of the
artificial satellite from the surface of the earth will be equal t0

(A) R (B) %
© 3 D) 2R

e —
I~ /vriA/ 110011 . 11 /24
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32.

33.

34.

35.

yug &) Hefld s Ueh - fedpr guyug <A wera e £ “

geaf) & fpdl 3

‘iaﬁﬁ 3 at gedl & 39 JUUR ) TRU e qua A
;.fu 8 f&a M) 4R

) 16fa (D) 24 w2

The orbital radius of any Salcllite of the carth is fﬂ}lr times the
orbital radius of a geo-stationary satcllitc. Then the time perjgq of
revolution of that satellite Of_lhtr carth will be equal to

(A) 8 days . (B) 4 days

(C) 16 days (D) 24 hours |

R gt o W W AEH A [ F qu @ A 9T B g o
I ¢ dt g 1 A fagad @1 W |

(A)  q§ ST (B)  we mEm
L(C)__ g Tm - (D) Y& & S |
If the earth starts 'rntaﬁ“i"i@“ﬁ@m east to west instead of west to east
about its axis, then the value of g on equator L %
(A} will increase . (B)  will decrease
(C)  will be same { (D)  will be zero
Hqggd s w Rflagg g ¢
(A)  [MLT? B) [ML'T?
€ (M7L'T? (D) [MI*T™2)
The dimensional formula of modulus of rigidity is
-2
Ay LT B) ML)
1yl 2 .
o WL O)  [MET)
q9 | %& H Yearey o
A ) N
(A :ja% (B)  d¢d &
C ' \ ;
AL ) A e B

With the rj
11S€ of temperature the elastic property

(A)  decreaseg (B) increases

(C) Ttmainsg ¢

ﬂaﬁu\(m increases rapidly -



[117 ]

40. wrm smad 1§ a5y F R 3N mo ¥ g waia B 2
(A) Oo [Fi] 900
(C)  180° (D) 45°
The phase difference betwef-‘{'l displacement and acceleratigp of .
body in simple harmonic motion wil] be ‘
(A)  0©° B)  90°
(C) 180° (D)  45°
41, VT S B erh A WG Ry & qr war @ T 3 gy
gt 2 -
A T (B)  oia: feufes
(C) yota: i (D) 3ive: feafaw 3l 319 nfm
When the hanging bob of ‘& pendulum crosses its equilibrium
position, then its energy is
(A zero ._
(B)  completely potential .
(C)  completely kinetic
(D)  partially potential and partially kinetic
42. A IS H AEdHEA { |
(A) a1 W 344 grar ?
(B) Togad Y@ @ yat w s A 2
(C) Bl vl W Fm ey 2
(D) 49 & forysa Y1 W e g 2
The time-period of a simple pendulum
(A) s infinite at poles
(B) fs more at poles than equator
(C)  1s same at both places
(D) 1s m(.)re at €quator than poles
43. @m‘%“ﬁ*mwmﬁamm%wfaw%mﬂam
wfd & I R A 35 gy
(A)  "Ah N
/ (B)
(C) /¥ e

(D) ¥ & 4
m11nn1l o4/ 2
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45.

46.

[ 117

A mass-spring system IS 0s¢illaring in a car. If the car moves on g
horizontal road with acceleraggg speed, then its frequcncy

(A)  will decreasce @) will increasc
() will remain same (D) will be zero
o % T 42 W O d Ty e 78 97 F fe AR A e
ST g
4T 2T
A g B) =
T 5T
. € 3 D 5

The diameter and surface tension of a water-drop are d and
T respectively. The value of excess pressure inside the drop will be
equal to

@ ® 2
© < | o ¢

4 ft s &1 TR 1 Men s § R T s SUe @ (90 F 9E
dd = 0-465 N/m )

-

&

(A) 7-03 x 107 3 (B) 10x 1072 S«

(C) 9-35x 1073 A (D) 1868 x 10~ I

The work done to make a mercury drop of radius 4 cm will be
equal to ( Surface tension of mercury = 0-465 N/m )

(A) 7-03 x 10 3joule (B) 10 x 10joule
(C) 9:35 x 10 3joule (D) 1868 x 10 joule
SETE wi & fag i @ .

(A)  HaT GIE 9T (B) GSHWH WA G

(C) Tl |u W (D) ¥ & *iE 7

' The principle of Bernoulli's theorem is based on

(A) Conservation of momentum
(B) Conservation of mass

(C) Conservation of energy

(D). None of these

_ _ [
| B/XI/A/11001 Page 15 / 24
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47.

48.

49,

50.

fpef gg A divi<d 1 & frdeard fie Bl v &ran 2

(A) YA By

(©) g@ Al D) g a wu

The accelcration of a falling body in any fluid with terming,

velocity 1S

(A) Zero B) ¢

(C) morc than g (D) less than g

ww L wrrﬁwmﬁaﬁﬁﬁﬂlﬂwﬁmanﬁ za & Tfaste 5 4
FW wﬁ e YA T 1 S0 &

L)/’I’ 2 l~(Bl 2:1
(C) 1:4 (D) 4 -1

If two small spheres of radii L and r are moving in fluid with equal

2
constant velocity, then the ratio of viscous force acting on them
will be ! ™y -
(A) 1:2 W (B)  2:1 )
C) 1:4 N\D) 4:1 *
a1 T < famn @ .
&) (MUT {B) [MLT]
(C) [MLT™] (D)  [ML>T?)
Dimension of coefficient of visc'osity is
(A)  [MLTTT (B) [MLT]
(C) [MLT™?) | D) [ML2T2)
webl Rt gl % yare % fore Yaregw wEN H AR FETT Fww @ ¢
), 13 10% d (B) 10@ 1000 % st=

(C) 1000 ¥ 2000 % &g (D) ¥H @ S T

The value of Reynolds number for flow of fluids in narrow tub€s 8
approXimately equal to
(A)  between 1 to 10 (B) between 10 to 1000

(C) between 1000 to 2000 (D) none of these
1

4
B/X1/A/11001] Page 16/ 7
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o54.

ill'f|

B W q{ U&h fig &1 am XK R RHIARISE Ay o0 X F U e

gl A H qrH g
(A 57425 (13) 30120
() 335 () 365

The temperature of a body ig found in Kelvin acalc a8 X K and

(A)  574:25 1) 30125
(33 ) 365 .
g @ A G A EHRA ey e 1 Al g @Y e B AT A
+1 H1gdd

(A) = B) sl

(©)  Rafdad & D) ¥ @ Hi§ TE

There is a concentric spherical cavity in a solid ball of metal. If the
ball is heated, then volume of cavity

(A) will decrease (B) will increase

(C)  will remain unchanged (D) none of these

1§ ¥eM T §% o e
(4) e g B)_ el ?
) Terwd? (D) ¥ ¥ His T

On increasing the pressure, the melting point of ice
(B) decreases

(A) Increases
(D) none of these

(C) remains constant
qrft % oo i fafre W @ A A @

(A) 80 kcal/kg (B) 536 kcal/kg
(C) 4-2 kcal/kg (D) 1 kcal/kg
The specific latent heat of vaporisation of water is
(A) 80 kcal/kg (B) 536 kcal/kg
(C) 42 kcal/kg (D) 1 kcal/kg
== ¥ araee qitada % gad & a9 PR w2

(A) HFAT W (B) <TE W

(C) Hid W (PJ/}QFHW

- I
[B/X1/A/11001 - Page 17 / 24
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Temperature at which pha# ansition occurs of matter depengdg

(A)  on volumc : (B)  on pressure
(C)  on density i (D) on mass
6. g g A 7w fkE N F I b ol wren e e wiywad &m0
(A) g (B) i
(C)  wTad ST3HNTHTSS (D) ArggIem

At constant absolute temperature T, the root mean square speed of
which gas molecule will be maximum ?

(A)  Hydrogen (B)  Oxygen
(C)  Carbon dioxide (D)  Nitrogen
57. fuq g w foedft 9 & R e ggme 551 smaas

(A) W A9 % FHATI BT 2

(B) W A9 F WHFTCR e B
(C) & gHEIT B @ I.

(D) A % kIt gt &

Volume of a given mass of ga;g. at constant pressure is |
(A)  inversely proportional o absolute temperature
(B)  proportional to absolut# temperature

(C)  proportional to tcmpefa’iiure

(D) inversely proportional to temperature

58. FHwATIAH & gy fiam o ey & @ =0 it @ @ 2

(A) A hT TE (B) -
(€ ‘D) e 6w

In first law of thermodynamics, which one of the following is
conserved ?

(A) Number of molecules (B) Temperature

(C) + Energy (D) Number of moles
59. “am%-mﬁﬁa,agmhwﬂ%wasm%waawﬁaeﬂ%r‘ﬁ
HYUT .
(A) ST & fm B) i & fmm &
(C) A % Maer g & (D) fFET® & fam

|B/XI/A711001] Paoe 18 / 24



60.

61.

62.

63.

117

" ‘1l ]'(]-. b '. y -
The rate of he S8I8 Propayignal to the temperature differen.,

of body and its surrounding - Thig {8 the statement of
(A) Dalton ? law | (13) Stefan's law
(C) Newton's law of “m]"‘ﬂ (1)  Kirchhoff's Jaw

iyt =i v o Rl g ) Hl-dfveg Fal

) = R (3 wed R

() TR () frma w2

In any cyclic process, the intery,) encrgy of any gas
e
'f'aia; Sl MR (D) remains constant
(A) 418 Jcal”! B) 662 x 1073*Js
(€) 83Jk ' mol™ D) 9x107! ke
The value of Planck’s constant is equal to

(A) 418 Jcal™? - (B): 662x1073*Js
(C) 83Jk 'mol™ (D) 9x1073! kg
AT JrEean § Fniteshl % wyn R w1 e g @
A) dQo=dw B) dQ=dU+dwW
(C) dQ=dU (D} dU=dW =0

The first law of thermodynamics in isothermal condition 1s
represented as :
(A) dO=dW (B) dO=dU+dW

(C) dQ=dU (D) dU=dW =0
AT % seq § €y wegm ° @il Al T

(A) Tl 8

(B) wgdl B

(C)  3rywrfad @t 8

(D) Ta f yHla & geEn dedl A Hed

On increasing the temperature, the speed of sound in gaseous
medium

(A) decreases

(B) increases

(C) does not change

(D) increases or decreases dépending on the nature of gas
I




Ill?]
Ryedg 0 Jeat % forn R TN 0 fngy § 3 adq_ay aprror TR A 2 o

64.

635.

66.

67.

(A)
(C)

qUEdA
saferan ol

(B
(D)

W
1]

Which of the following ph€Nomeng in sound waves i8 responsible
for the production of beats ?

(A)  Reflection (B)  Refraction

(C}) Interference (D)  Resonance

QR at7 igw d Iewm it gt 2

(A) A (B) gy

(C) A TN I (D) 7 A g A
Waves produced in open organ pipe is

(A) longitudinal

(B) transverse

(C}) both longitﬁdinal and transverse

(D) mone of these
%&ﬁwﬁfﬂwwwaﬁ@éﬁéﬁ-&hﬁ?ﬁmwﬁrﬁ
(A) 10 W/m? {® 10" w/m?

(€ 10'° wW/m? (D) AH ¥ =13 TE

If the level of intensity of any tone is 20 decibel, then the intensitv
will be equal to

(A) 10W/m?2 B) 107'° w/m?

©) 10'° w/m? (D) none of these
kel o, 1 St wn A A frevead] freig H o A g 2
(A) 22 - (B) X2

(C) A M) Ar/4

In a stationary wave of wavelength A, the distance between two
consecutive nodes is

(A) 22 (B) A/2

(O B (D) A/4

e i
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68. wﬁﬁgﬂﬂﬂﬁﬁlﬁﬂ?ﬁ% {I]?]

(A) S (13)  HPIH

© () atresd
Loudness of sound dependg on

(A)  Frequency (3) Amplitude

(C) Velocity
. (D) Wavelength
69. ﬁamﬁmmmqlgiﬁﬁmﬂm-ﬁm
A _2:1 B) 1:2
€ 4:1 D) 1:4

If the ratio qf intensities of two waves is 4 : 1, then the ratic of their
amplitudes is

A) 2:1 B) 1:2
(C) 4:1 (D) 1:4
70. ﬁﬂmma@émmﬁmﬁ

(A) el 3 s (Bl VR

(C) Iuiafda weft 2 (D) W Wedl ® W1e H wedl

With increase in tension in a string, frequency of transverse
vibration N

(A) increases ‘ - (B)., decreases

(C)  remains constant (D) first increases then decreases

@ug - ¥ / SECTION - B
g 39T W9 / Short Answer Type Questions
WyT dear 1@ 20 @g I & | Rt 10 gy & sww & 1 wRiw & fw

2 3% fraifa & : 10 x 2 =20
Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions.
Each question carries 2 marks : 10x2=20
1. fom f vwega w1 faga @12 ? 2

What is the principle of homogeneity in dimension ?
2. 3 Q sifas afd@l F am ford 7ol fnfg g (ML '772) e @ 2

Write down the names Of two physical quantities, Whose
dimensional formulae are [Jl'%fﬂ'-‘l'_lft""2 ].

o ———
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3.

=

i

10.

11.

12,

13.

14.

3herg & men At A @ O )

Define average velocity 3”9 NS4 ntaneous velocity.
v ¥ &fe T @ wEad 395 F S ) 2
Write the expressions for horizongg) range and maximum heigh. o
A projectile.

YU oy e frm oy fRd HE R o -
What are called angle of friction and angle of repose ?

wefl well % @ e @ el

Write down important characteristics of conservative forces.
O s g W T g A gl gf g W I N 5 ==
o @1 R g R e sl e | 5
A force of 1 N is acting on a body moving with constant velocity on

a circular path of 10 metre radius. Find the kinetic Energ: of the
body. :

SITEE U T & P AT | { 2

p,

What is coefficient of restitution ? Explain.
FR-Fet gy g

Write work-energy theorem. Ny, .
B Ed T e g Th HW T St e Rty I %
fad | “ s 2
Write the expressions of kinetic energy and potentidk energy of a
particle in simple harmonic motion. o

st 1§ Fraa an w5 TEW H A 2 7

Why do rain drops acquire constant velocity ?
HIATE] T onifead o= 3iat e 2
Write down the difference between resonant and forced vibration.

T 7@ & Rt FA1E W ey @l ‘g ' 1 9 WaE W% A % o &
9T @ ST 7

2

4

At what height from the surface of the earth, will the value of 'g ' be
9th part of its value on the surface of the earth ?

AT F U H G A 7 <1072 =g, M R 56 O @ 1.0 3 e @
AT I 8 e F e g3 o 2

Surface tension of soap solution is 7 x10 °N/m. How much work

is to be done to make a hyubble of radius 10 cm from this
solution ?
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16.

17.

18.

19.

20.

117
sy seTe T TR SRR B afiy g | z!
Explain the difference between g miine flow and turbulent flow.
o a0 22 MR g e g5 10 1 0 BT aw A
5 el W TN W IFHT TAL 0 gy o) o B
(Y= 1.25x'l{]”"i'@q/tﬂ2] 9
Length of & wire is 2:2 mctre. It radius is 3-5 x 10 *m. Calculate
the elongation in its length on hanging 5 kg weight on this wire.
(Y=1-25x 10'" N/mQ]
afe grm A @ @ 68 a0 @ Ay § v w1 @l qier gt TG (RMS
wTet) 0°C W T WILH Yt AT 1 AT @ W ? 2

If the pressure is constant, then at what temperature, oot mean
square speed of gas molecules will be double its value at 0°C ?

fyes fag } 19 1 Twwem § 2 2
What do you understand By triple point ?
maﬁﬂ%m@mm@ﬁ@aﬁﬁﬁﬁmmm@n? 2

How much work will be done by a particle executing simple
harmonic motion to complete a full oscillation ? '

=iy yeera &1 TRufia =t @ s @i fod) 2
Define loudness of sound and write its unit.

g 30T W9 / Long Answer Type Questions

gy G 21 @ 26 2 savtg wyA & | gt 3wyl & I § 1 W & fow
5 oF FrafRa & : 3x5=15

Question Nos. 21 to 26 are Long Answer Type Questions. Answer any

3 questions. Each question carries 5 marks :

21.

22.

3x5=15

U Y % ISH hieA, TETH Sars aul &fos wm % foe saere W w

13+ 13 +2
Find the expression for the time of flight, maximum height and
horizontal range of a projectile.

fepEfl IATHT ATl % Siged 3Vl 1 < Iaeh A & af@: qra R 5
Find an expression of the moment of inertia of a circular disc about
its diameter.
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[117]
23, W%Wﬁﬁwomtﬂﬂomrﬁmwﬁﬁmmm
5

T3 e /A & Hiet H1 Y8 T 25, 1 3 =2eayM R ?

How much work will be donc (g increasc the radius of ar soap
bubble from 0-10 m to 0:20 m, if the surface tension of soap

solution is 25 x 10 newton/metre? |
24. et v A1 Q) foftre FwAll  fow ¢ - = R g R R R

Establish the formula C, -C|, = R for two specific heats of an ideal

S

gas. .
25. e 1 Yiaer Fem wad) @ W F Pem g ywm ARl 5

State Newton's law of coohng Derive it from Stefan's law.

26. fowge 7 g ? ﬁ@m%ﬁﬁhmﬁmﬁﬁﬂwaawﬁﬁﬁwﬁ
$1 IR & 3 & TR e 2| 5

What are beats ? Show that the number of beats! per second is
equal to the difference of frequencies of two superimposed waves.






